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AT |BBILERFEOEREGS (GEts) [ERET—T H408 987H 0.21 0.22 0.21
AT |BBLERROLS (LHBHR) [HEH1152 987H 0.28 0.25 0.28
AT |srstmsaeys— @an<rsy @mn |BELL T BH9-1 987H 0.23 0.21 0.18
KT |#EEILty5— (Bi8E) (BiH—T B29-9 9H8H 0.13 0.14 0.14
AT |E=End@mi (Evon—+) Esg) | FEHI1-1 9H8H 0.13 0.12 0.12
KT |[EEsEEttYy— BHEE) [FAM—TH15-15 9H8H 0.20 0.19 0.18
KT Ly aZE (HE5) Ly F27-1 9H9H 0.10 0.11 0.11
KT |RiEFr (BIE13) BHHE_"TH15-1 9H8H 0.13 0.13 0.12
AT |[BFEEZERZOEOOE (FR) |HEy T1-17 989H 0.11 0.11 0.11
KT |(B2EEYSY— (BET) [[BXKE—THIL-30 987H 0.12 0.12 0.11
KT |H@EEIUE (BES) EXET7-7 987H 0.32 0.34 0.32
AT |BBILBRAAOIEIESS (B¥IA) |FHRE44-4 987H 0.11 0.12 0.13
KT |PFEEVY— (BES) AET—TH17-4 987H 0.21 0.20 0.20
AT |BHEOHRFHE (BiH1z) [RIRUTE18-6 9H8H 0.48 0.40 0.38
KT |FREE (BEEEI3) HE=THB3-7 9H8H 0.17 0.18 0.18
KT |EERENECERADR) |[EL—THES-3 987H 0.22 0.22 0.21
AT |[FRXEEYY— (E@AOF) [BTE1-2 987H 0.32 0.25 0.22
KT |csprexzomanm@EaAns (S HETI-5 9H8H 0.57 0.44 0.40
KT |[PREEE (BHESH) ElLl—THE5-25 987H 0.14 0.14 0.15
KT |HErEXNEE (BHE) (24 F1-5 9H9H 0.10 0.11 0.11
KT [KEFE (BIE13) EMET1-4 987H 0.50 0.35 0.29
KT |[BEE (BiE13) FEy F22-16 9H9H 0.12 0.13 0.12
AT % xteoie ca-nup<em @arom |FEEE—T B1-1 988H 0.74 0.58 0.47
A |[wawrsmshssesssn Gy | AMEIFEEEREL114 9H9H 0.12 0.12 0.13
AW |BLOERE (BFES) AHRE] %182 9H9H 0.10 0.11 0.11
=T |=RmEtERRtE Y ¥ — (BER) |ZREn=mTsEm0e-1| 9F9H 0.21 0.20 0.20
EHE  |[EmEuiiEwy v &R (BER) |[EEITRTERASERL-2] 989H 0.15 0.16 0.16
EE |ExREtY5Y— (BEH) [@grrsnasrEaee1| 9898 0.19 0.20 0.21
EE TR EREERs R (EEADH) |ERIDIAFTEHF6[ 989H 0.12 0.12 0.13
HfA[FEN >HBNE (BiES) |BNEEATEFEWL-2| 987H 0.27 0.27 0.26
BME[&SEE (BiH13) BAEINATEFEL 987H 0.12 0.12 0.13
S |Eanzr - v—extyy— E@ER) |SALETREEFAREIS-1| 9F7H 0.30 0.26 0.22
EAWLBLHEKABFEY Y — (BiER) |ERALETAREFHE12| 987H 0.15 0.14 0.15
W (AEHEON (EmADHE) |#HEE#ERFAEL2] 9828 0.07 0.07 0.07
HiE |[BABUEYY-—FxE (GEg) |BVEEHVELR T H16| 989H 0.10 0.10 0.09
#iE |BLUGEINHVKE (BER) |BUBEIGEFTHE2-2| 989H 0.09 0.09 0.09
#iE (BVERREXR (HES) |BVBHTEVEATH26) 989H 0.09 0.09 0.10
ME  |ermeys— @wisvozme s |EAERTEGE T H148-2 9A9H 0.11 0.11 0.12
HiE |mgzvsrc 27— (GER) |BGEEE)IIFREL-1] 989H 0.15 0.15 0.15
HN |ERILE3E (BEES) HAE/MI1F /K130 9H8H 0.15 0.16 0.16
HN |Ettigsity y— (BES) |BNITES®Z0 ./ Kes-1| 9FH8H 0.11 0.12 0.12
AN |EmEsEmetey y— (BER) |BNiTSETTy)IRe7-2| 988H 0.13 0.13 0.14
i |EEtEXREty sy — (BEHg) |EREI=IERCEs -2 987H 0.17 0.20 0.21
hl |PEtERREEY 5 — (BiElg) |tEeTEREEsie-1|  988H 0.11 0.12 0.11




